16

P 75 O L (R R S

_/‘P‘ E— I o
1. &4n T F#431.25% 4 760 g R 8 n

A. 0.3125% B. 3.125% C.31.25%

D. 312.5%
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A. 10% B. 5% C. 90%
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34. The above figure shows the floor 34. bR TR VK - T
plan of an ice rink.
(a) What is the area of the ice rink? (a) WIKGRERERZ DK ?
[4 marks] (4 77)
(b) Handrails will be built around the (b) B A DAh - 8K 1 J [ 27
ice rink except the entrance. The BETR T WRAT > R TR ORI
cost of building the handrails is & $360 - AR A w
$360 per meter. What is the cost ez (HEASGHESR)
for building the handrails? (Give (247)
the answer only)
[2 marks]




Mock Paper m

21. The above figure is formed by 21. & 52 B =GR J7 B PF &
three squares. The areas of the B o 48 =AW 1E 5 % B9 T A 43 A
three squares are 9 cm?, 25 cm? &= 9em? ~ 25cm* M 64cem? > B
and 64 cm? respectively. What is ER TR R Z D 2
the area of the shaded part?

A. 48cm? A. 48cm?
B. 44cm? B. 44cm?
C. 36cm? C. 36cm?
D. 30cm? D. 30cm?
10 cm
+—>
22. The above shows a square with 22. FEMIEFTEER 10cm » W

a side length of 10 cm. If the
length of each side is increased by
10%, what is the new area of the

square?

A. 100cn?
B. 102c¢n?
C. 110cm?
D. 121 c¢n?

BEBME10%  ERHEEREZ
AN
SZ

A. 100cm?
B. 102cm?
C. 110cm?
D. 121 cm?

11



8 B=P0%

1. B
2. B
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4. D
190 o
ﬁxmw—gsz,
5. B
—ﬁ—l—L: = 9
1 100 c 0 0.16 = 16%
6. 222.2%, 22 9 % 2z 0.22
. L /o, -IO 0, 9, .
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Item | Suggested Solutions Marks | Remarks

B | Z|mER 52 | ZRSR

34(a) | Area of the ice rink: RN @R~ BAI
BB ERE - 1 | BRASTERER

1 g 01D (BR2BR
24X10 + (20 + 24) X (14 - 10) X -~ 2 1019)

=328 m? 1

34(b) | 24480 2
* (24 + 20 + 14 + 10) X 360 = $24480

R15E B4

21. B

ERE: 8X8+2 + (5+ 3)X3+2 =44 cm?

22.D

(10X 1.1y % (10 X 1.1) = 121 cm”
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